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Set A — Answers

L - Set A Paper 3
14 Amyis £x10=52 =8 years old Aand C s
$esrs Aand B

) 3 Topic tested: 2D SHAPES

3400
A9 110300, 102600, 102514, 77800

SoTim's mum is 4.25 x 8 = 3400 + 100 = 34 years old Mkl as diinsd

(2 marks for correct answer, otherwise 12 x 4 = 41

1 mark for a correct method) 425

There are 3 + 4 + 1 = 8 balloons in a packet.
Topics tested: MULTIPLYING FRACTIONS & WRITTEN MULTIPLICATIO! So she needs 24 + 8 =3 paacke's b

15 1976 Topics tested: MULTIPLICATION& DIVISION
T et (RS Eight million, Eighty thousand, Eighty
16a 23 Topic tested: NUMBERS

16b Eg.16=2x 8, soto find 368 + 16,

1.4 kg = 1400
divide 368 + 8 = 46 by 2. Y :

1400 g - 550 g = 850 g
(2 marks for correct answer, otherwise 1 mark
for correctly reading 550 g from the scale.)

17a 27+5=5r12 Topics tested: UNITS & SUBTRACTION

lico = —
S 12 cm?®
17b Z%=_2X_9+%=E;_4=L92_ 12 x 3 =36 cm’
| Topiotested MXEDNUMBERS ANDIMPROPER FRACTIONS Topl et 10T

Area of shaded parallelogram = 4 x 12 = 48 mm’ (G2 & 25 53 apples each day.
Base of unshaded triangle = 7~ 4 = 3 mm
Area of triangle = 0.5 x 3 x 12 = 18 mn?®
 area = 48 + 18 = 66 mm?
(2 marks for correct answer, otherwise 1 mark
for at least one area correct.)
Topic tested: AREAS
1§

B 9
Soheeats 17095 apples in 365 days.
T

(2 marks for correct answer, otherwise 1 mark
for a correct method.)
Topic tested: WRITTEN MULTIPLICATION

b Sund:
By lsaug'. ;\Ye caw 24 = 4 = 6 blackbirds on Sunday. Fewer than
it he saw on Saturday were blackbirds, so
: Than 12 4 2 = 6 blackbirds on Saturday.

mbership fees = 10 x £12 = £120
% 10 = 40 balls =2 x £19.78

' . f Topic tested: SHAPE NETS
ol balls and T-shirts = + £4.9
al cost of - :
458, 462, 464, 455
Topic tested: ROUNDING

Change = £2 + £2 + £0.20 + £0,05 = £4.25
x Cost of pencil case and 4 pencils = £10 - £4.25 = £5.75
(3 marks for correct answer, otherwise 2 marks for 4 pencils cost:
~ a correct method with one error or for correctly finding £5775
 the total cost of all the items. Award 1 mark for correctly - £2.95

finding the cost of 40 balls and the cost of 10 T-Shirts.) £2.80

B e CALCU DN WTH MONEY S0 one pencil costs £2.80 + 4 = £0.70 or 70p
G (2 marks for correct answer, otherwise 1 mark
for a correct method.)

Topic tested: CALCULATIONS WITHMONEY

nine thousand six hundred
12 x 800 and 8 x 1200
Toplc tested: MULTIPLICATION
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Set B — Answers

10:56 (or 10.56 am)
15 minutes

10:22 (or 10.22 am)
Topic tested: TIMETABLES

36
2 squared + 4 squared = 20
(since 2: = 4 and 4% = 16)
Topic tested: SQUARE NUMBERS

Number of loaves given away = 1.5 x 4= 6

1f she sold two thirds, then one third were given away, so
Number baked + 3 = 6

Number baked = 6 x 3 = 18 loaves

(2 marks for correct answer, otherwise

1 mark for a correct method.)

Topic tested: NUMBER FROBLEMS

4+2=2
Topic tested: SIMILAR SHAPES

5

-an be written as:

o= uls

=S

Topics tested: MULTIPLYING FRACTIONS &
ADDING AND SUBTRACTING FRACTIONS

False. 12 is a common multiple of 4 and 6.
Topic tested: MULTIPLES

R=A<+3andA=3R
Topic tested: FORMULAE AND EXPRESSIONS

D@ a7
(2 marks for correct answer, otherwise
1 mark for a correct method.)
Topics tested: ADDING AND SUBTRACTING FRACTIONS
&DIVIDING FRACTIONS

You need two bottles for each litre, so
£2.67
1 litre of paint costs x 2
£5.34
i
£534

0 x. 4
4 litres costs E—_2L36
b
or
4 litres = 4000 ml
So they used 4000 + 500 = 40 +
£2.67

575
(2 marks for correct answer, otherwise
1 mark for a correct method.)

Topic tested: WRITTEN MULTIPLICATION

Set B Paper 1
1016
Taplccestod:ADDmON

646
Topic tested: MULTIPLICATION

4
Toplc tested: DIVISION.

0
Topic tested: MULTIPLICATION

828
Toplc tested: SUBTRACTION

553!
x 5
265
Topic tested: WRITTEN MULTIPLICATION.

55’
Topic tested: NEGATIVE NUMBERS

93
Topic testect SUBTRACTION

56 4
7. 5
3 9
i

tested: WRITTEN ADDITION
X

= dodla2,

3 El

Topic testect WRITTEN SUBTRACTION

8100
Topic tested: MULTIPLYING BY 10, 100 AND 1000

79700

Topic tested: SUBTRACTION
316

x 7

TR
T

Topis tested: WRITTEN MULTIPLICATION

7.422
Topic tested: ADDITION

12x3=36
50120 x 30 = 36 x 100 = 3600
Topic tested: MULTIPLICATION

21+ =1
$01210+11=11x10=110
Topictestedt DVISON

0.04
Topic tested: DIVIDING BY 10, 100 AND 1000
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How to Mark the Papers

Use the answers in this booklet to mark each paper, then write the scores in the table below.
For each set, add up the scores for Paper 1, Paper 2 and Paper 3 to get a mark out of 110.

Paper 1 Paper 2 Paper 3 TOTAL

mark out of 35

——
Set A + +

Lo soat i)
R

Set B + ‘ +

mark out of 40

mark out of 35 mark out of 110

The scores for these practice papers will give you a pretty good idea of whether
a child is working at the expected standard in Maths.

The mark needed to achieve the expected standard varies from year to year,
but if they get 60 or more out of 110 then they should be on track.

© CGP 2016 — copying more than 5% of this booklet is not permitted
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Set A — Answers

Set A Paper 1
g a2 Tmark | 19 177423 -63 999 = (177 423 - 64 000) + 1
Topic tested: MULTIPLICATION (N7 402 3
64000
2 1612 1 mark B2
Topic tested: SUBTRACTION 113423 +1=113424 1 mark
Topic tested: WRITTEN SUBTRACTION.
BE205| 1 mark
Topic tested: DIVISION 20 %l
SRAES 5
4 359 1 mark e b 1 mark
Topic tested: SUBTRACTION Topic tested: WRITTEN SUBTRACTION
558 32 1 mark
21 11249=121+9=130 1 mark
Topic tested: DIVISION Topic tested: SQUARE AND CUBE NUMBERS
6 315 1 mark ;
22 10% x 250 =250 + 10 =25
Topic tested: ADDITION 40% x 250 = 4 x 25 = 100 1 mark
7 2658 Topic tested: PERCENTAGE PROBLEMS
S
pEh7e 4.8 23 7x9=63
ey 1 mark 500.7x9=63+10=63 1 mark
Topic tested: WRITTEN ADDITION Topic tested: MULTIPLICATION
8 7x3x4=7x12=84 Tmark [ 24 3,720-3x120_360_g4, 1 mark
Topic tested: MULTIPLICATION 4 a g
Topic tested: MULTIFLYING FRACTIONS
9 287 1 mark
Topic tested: ADDITION 25 3922
x 2.4
10 540 R
-370 ; 9860
70 1 marl [ PERET
= = T8 2 marks
foziod 9L PTRACTIO (2 marks for the correct answer, otherwise 1 mark
1 4527 for the correct method with no more than one error.
- G Award no marks if the error is the placing of digits in
e 1 mark incorrect columns.)
4 Topic tested: WRITTEN MULTIPLICATION
Topic tested: WRITTEN MULTIPLICATION.
26 Saionaden
12 4x7=28 8 16 16
S0 40 x 70 = 28 x 100 = 2800 1 mark Topic tested: ADDING AND SUBTRACTING FRACTIONS
Topic tested: MULTIPLICATION
13 0482 1 mark
Topic tested: DIVIDING BY 10, 100 AND 1000 =

14 64 Qimark an
74 4% 6 4
Topic tested: WRITTEN DIVISION. A3 74

0

% 4 % _17-12_ 5 1 mark (2 marks for the correct answer, otherwise 1 mark for
19719 19

19 19 a correct method with no more than one error.)
Topic tested: ADDING AND SUBTRACTING FRACTIONS Topic tested: WRITTEN DIVISION.

35% of 120 =36 +
Topic tested: PERCENTAGE FROBLEMS

29 (38+12)+5-3=50:5-3=10-3=7 1 mark
Topic tested: ORDER OF OPERATIONS

o8 Pl b SEh T
D i T O T T
Topi tested ADDING AND SUBTRACTING FRACTIONS

9 1 mark
o1

3x4 _12
23 23
Topic tested: MULTIPLYING FRACTIONS
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Set A — Answers

Qel A — NlioVrere

(2 marks for the correct answer, otherwise 1 mark
for the correct method with no more than one error.
Award no marks if the error is the placing of digits in
incorrect columns.)

Topic tested: WRITTEN MULTIPLICATION

SI58080T5=8 - 7.
36 36 36 36
Topic tested: ADDING AND SUBTRACTING FRACTIONS

L7
S6500 72
Topic tested: DIVIDING FRACTIONS

bir7:
R7NE5E30)
135

189
]9
0
(2 marks for the correct answer, otherwise 1 mark for
a correct method with no more than one error)
Topic tested: WRITTEN DIVISION.

Set A Paper 2

3xB=24014x8=32
3x4=120r4x3=12
Topic tested: MULTIPLICATION

7C t0 0°C is 7°C. 0°C to -2°Ciis 2°C.
So, total change is 7°C +2°C =9 °C
2°C-3°C=-5°C

Topic tested:, NEGATIVE NUMBERS

5
4
0

8
= 4
7

Topics tested: TABLES, WRITTEN ADDITION AND SUBTRACTION

Circumference
12x2=24cm
Topic tested: 2DSHAPES

1
2
Topic tested: ANGLES.

0.165, 0.62, 5.6, 6.052, 6.4
Topics tested: DECIMALS & ORDERING NUMBERS

1,3,5,15
Topic testedt FACTORS

8=2x4,505x4=20
Topic tested: RATIO AND PROPORTION

2 sketch pads cost £12.30 + 3 = £4.10
So the book costs:

b0
-£ 4.0

£5.90
(2 marks for correct answer, otherwise
1 mark for a correct method.)
Topic tested: CALCULATIONS WITH MONEY

Angle should be within 2° of 75°.

Correct side should be within 2 mm of 5.5 cm.

(2 marks for correct triangle, otherwise 1 mark for an
angle of the correct size or a side of the correct length.)
Topics tested: ANGLES & SHAPES

A rectangle of 6 units x 2 units OR 12 units x 1 unit.
Topics tested: PERIMETERS & AREAS

£5.50 - £3 = £2.50

£2.50 + £0.50 =5

(2 marks for correct answer, otherwise
1 mark for a correct method.)

Topic tested: FORMULAE AND EXPRESSIONS

1
75 40%, 0.1

(Z =0.5,40%=0.4,0.5+0.4 +0.1= l)
Topic tested: FRACTIONS, DECIMALS AND PERCENTAGES





